PROFESSIONAL EXAMINATION

i Professional _ BOARD _
@ examination Police Constable Recruitment Test -
board 2017

17th Sep 2017 03:00PM

Topic:- General Knowledge and Logical Knowledge

1) Ideniify the missing number, based on the pattern given below: / @r @ 7w deet &
IR 9%, #cd & & Tga«Ig;
3 13 12 32 21 G {
35 25 76 56 7 |7 |
1. 87
2.97
3.77
4,78
Correct Answer :-
o« 87

2) If SCRIPT is coded TCQIQT, then how is DIGEST coded? / If¢ SCRIPT &I TCQIQT J ®ifsd

forar 5raT €, 9l DIGEST & $& HIfSd far wmam?
1. EIGHTT
2. TIHETT
3. TIFETT

4. EIFETT

Correct Answer :-

« EIFETT



Akhil left home for the bus stop 20 minutes earlier than usual. It takes 15 minutes to reach the stop. He
reached the stop at 09.45 a.m. What time does he usually leave home for the bus stop? / er@a%aﬁw‘fq
F fore gA=m 9 20 fiFe Ugd R SIS feun 9 WU a@ W[ # 15 ffFe Ta €1 91 09.45 a.m TR & 1T
TR UEHdT 81 91 SR 99 U & fore fory 9ug R Sisdr g2

1.9.50 a.m.
2.9.55a.m.

3.9.45a.m.

4. None of the above / SRIAH T ﬁ_sf:lﬁ

Correct Answer :-

e« 950a.m.

4) Find the odd one out: / Th ﬁwmaﬁﬁq
3,9, 35, 180, 1080

1.35
2. 180
3.9

4. 1080

Correct Answer :-

e 35

5) If BOTTLE is coded FSXXPI, then how is CALENDER coded? / Af& BOTTLE DI Fsxxpi & ifsd fHar SITdT

g, A CALENDER ! S pifed foar SRm?
1. GEQIRHIV
2. GEPIRHIV
3. GEPISHIV

4. GEPJRHIV

Correct Answer :-
e GEPIRHIV

6) If WATER is coded XBUFS, then how is ATLANTIC coded? / Tf¢ WATER Y xBUFs ¥ Bifsd far SiTan g,

W ATLANTIC BT $T DTS fhar ST

)



1. BUMBOUHD
2. BUMBOUJD
3. BUMBOVID

4. BUMBMUID

Correct Answer :-

e BUMBOUID

7) How many different six letter words can be formed using the letters of the word 'LEADER', if repetition is

not allowed? / Tfe TRTGf #Y 3rgafa T8 8 @) 'LEADER', TTsg & 31&RT HT STUNT P B8 3HeRI &
fora fafr <reg =TT o 9@ d €2

1. 720
2. 360
3.480

4. 660

Correct Answer :-
e« 360

8) In arow of houses, one house is the sixth from either ends of the row. How many houses are there in the

row? / TRI B T U §, Uop WX, Ufd & [t W AR A ooai g1 SH i A fraa R &2
1.14
2. 11
3. 15

4.12

Correct Answer :-

9) Who is the first Woman IPS officer in India? / HIRd &1 Ugdl Afgdm Gi'l'ar'q:lﬂ'\q SRPT P %?
1. Bachendri Pal / 541 UTqT

2. Kiran Bedi / {1 ot

3. Indira Gandhi / ${GRT TTief}

(4)



4. Sarojini Naidu / RIS BIRIS)

Correct Answer :-

« Kiran Bedi / {01 a?ﬂ

10) Who is the first CEO of UIDAI? / TS SIUSTE & TYH 3t S 872
1. Nandan Nilekani / TG i uft

2. Amitabh Kant / 3THATY &bid

3. A B Pandey / T.8L.TIS

4. Anand Deshpande / 3T& RIS

Correct Answer :-

e A BPandey/ Eaﬁm@

11) Who is the current Chairman of Central Board of Secondary Education (CBSE)? | T AT S

e S Adeas) F gdaH sreae oI g2
1. TS Rajput / S TH Ielgd

2. Krishna Kumar / W[ $HR
3. Rajesh Chaturvedi / JTOI] ﬂ@;(ﬁ

4. Vineet Joshi / Ta=iid GilQ“

Correct Answer :-

« Rajesh Chaturvedi / TR ﬂ@;cﬁ

12) Which Film was adjudged the Best Film at the National Film Awards — 2017? / ?T@'q o Wﬂzf
-2017 ® fow firen 1 wd 9 fvew &1 RewR fear war ur

1. Neerja / IRl
2. Kaasav / d[Hd
3. Dhanak / Y-

4. Dangal / AU

Correct Answer :-

¢ Kaasav/ PNd

(%)



13) Which Indian woman was the first to win the Miss World title? / fa% '\ﬂ?ﬂ fara Siaq areft ugett
HRAT Afgan S 2

1. Reita Faria / T TIRAT

2. Aishwarya Rai / ﬁf%'CIf Qg

3. Priyanka Chopra / ERED] Eh'CIBT
4. Sushmita Sen / ﬁf@ﬁﬂ Ll

Correct Answer :-

« Reita Faria / T BIRAT

14) Which of the following organizations manufactures Electronic Voting Machine (EVM) in India /g

TSI A1 W61 URd § A aifen =i gdien) o1 fafor sear g2

1. Central Electronics Limited / ‘H-gﬂ s&quPlob fafics

2. Defence Research and Development Organization / Y&l &Iﬂﬂ%ﬂ:f 3R ATy W1e
3. Bharat Electronics Limited / HIRd 3@% faftres
4. Bharat Heavy Electricals Limited / HIRd %Eﬂ ‘a'a@gm NIEES

Correct Answer :-

 Bharat Electronics Limited / HRd sﬁE@’Tﬁﬁ faftcs

15) Government of India has appointed as the Mission Director of Atal Innovation Mission.

/ HRE TRPR A 3fed e e & fime Ptz & wu 3 & Prgaa faT ? |
1. Ramanathan Ramanan / XTH-TY XHI[q

2. Sanjeev Sanyal / Ioitd FATe

3. Sanjay Mitra / o o

4. Rajiv Kumar / NG PHR

Correct Answer :-

¢ Ramanathan Ramanan / XTHATUA IHTH

16) Who was honoured with the Centenary Award for Indian Film Personality of the year 2016 at IIFI,

Goa? / JTSIATSTH3ATS, MaT H fHd T 2016 F YR fren aafdaw & fore warsd R 9
T foar e

1. Dilip Kumar / WW
(6)



2. Kamal Haasan / hH gl

3. S P Balasubrahmanyam / T ]| STl sTHUgH
4. Rishi Kapoor / 55¥ P

Correct Answer :-

e S P Balasubrahmanyam / T ] el sTHUgH

17) The Gulf of Mannar separates India from which of the following countries? g A wErR

BI WIS R B e 31 F ST Helt 72
1. Sri Lanka / StcioT

2. Bangladesh / SATGR

3. Pakistan / OT(ch el

4. Maldives / FTCTETd

Correct Answer :-

« Sri Lanka / ST

18) Golden Temple in Amritsar was built by / STHd¥X o wquf wfeR o1 fAmfor gIRT foar
Url

1. Guru Angad Dev / = 3i7T¢ ad
2. Guru Gobind Singh / %= Tifeig Rig
3. Guru Nanak / 7[> |-

4. Guru Ram Das / [ IH a

Correct Answer :-

e Guru Ram Das /7%= IH al¥

19) Founder of Bachpan Bachao Aandolan and Nobel prize winner who was born in Vidisha is: / ﬁﬁ'Q'IT

H T gU, TUU- qaTeh SAigiad & WIS SR Aad REPR fawiar g:
1. Iswar Pandey / é"d? LIS

2. Kailash Satyarthi / 21 Feareff

3. Atal Bihari Vajpayee / 3cd IERREISLLl

4. Atal Bihari Vajpayee / 3cdl IERREIEELl



Correct Answer :-

+ Kailash Satyarthi / e gerff

20) A Rajya Sabha member must have completed the age of / TS HHT A& 1%11'{ ot ot
wfed &t HH A HH g fha-t g+ Tifge?

1. 30 years / 30 G
2. 35 years /35 ¥
3. 25 years /25 99

4. 21 years /21 G

Correct Answer :-

e 30 years/30 GL

21) An artist known for his nail painting, who was awarded 3 times by APJ Abdul Kalam is / ST

UfET & g o1 oI aTen FaTeR o TS, Siegd $o kT T IR G 1-d fosar |
1. Sumitra Mahajan / g3 HgToH

2. Aditya Joshi / 3Tfed SiI=h

3. Wajid Khan / GTRIG G

4. Meera Kumar / BRI $HR

Correct Answer :-

« Wajid Khan / dTfolg @

22) Complete the series choosing the missing number: / Y&l TSI TADB YLl Ca| RT DIfOTT:
12, 28, 64, 140,

1. 296

2. 246

3. 280

4. None of the above /3?1?{ @f?ﬁg:@){

Correct Answer :-

e 296

(8)



23) Complete the series choosing the missing number: / W J&AT JAHR y@AT Ca] T PIfoTT:
2,7,29,146,

1. 640

2. 780

3. 580

4. 877

Correct Answer :-

» 877

24) Select the option that is true about the Statements and Conclusions given: / 39 faweu

&1 99 Bifee St f fou e Hy=T 3 fAepul & IR # 98l 8:

Statements: / YA:

Some cycles are scooters / T ATgfbd IHex g
Some scooters are cars [ PO EpcY PR g

Conclusions: / fra:
I. Some scooters are not cycles /| $© THe AT5IPd Tl &
IL. Some cars are cycles /| $ PR AZHd &

1. only conclusion Il follows / Had =By | GWUTWT%

2. only conclusion | follows / ad 5HY | WW%

3. neither conclusion | nor conclusion Il follows /:f@ﬁf&@ﬁ‘ﬁfl sﬁwéﬁﬁw&f [l Waﬂﬁ%
4. both conclusion I and Il follows / fTsrT | SR 1l G WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /= 8t st | 3R 71 &t feept] |1 Wm%

25) Select the option that is true about the Statements and Conclusions given: / 39 fawe

BT T PIoTY 1 fp 3T Y FU=T 3R frewul & 9 & 981 8

Statements: / HY:
Some chalks are boards / $ TP TS &
All boards are classrooms / i g $&IT(I %

Conclusions: / freo:

I. Some classrooms are chalks / $© BT Alb &
IL. Some chalks are classrooms / S ATH HETY &

©)



1. only conclusion Il follows / &ad 5HY || GENTUTWT%

2. only conclusion | follows / A B | @WUTWT%

3. neither conclusion I nor conclusion Il follows /7 &1 R | 3R 7 €1 et 11 &WW%
4. both conclusion | and Il follows / FT5HT | 3R 1| 1 &WW%

Correct Answer :-

« both conclusion | and Il follows / FIspY | 3R 11 T G@TUTW%

26) Select the option that is true about the Statements and Conclusions given: / 39 faweu

BT I PIoE & fop 2T e FY=T 3R frepul & 9 & 98! 8:

Statements: / ©Y:
All dresses are chudidhars / gl g ij;s‘, e %

Some dresses are not shirts / $& TS HH 81 &

Conclusions: / frea:
I. All shirts are chudidhars / T4 FHiw ISIGR &
IL. All chudidhars are shirts / G4 TSGR ¥ &

1. only conclusion Il follows / &I fpY ] GENTUTWT%

2. only conclusion | follows / Had Fpy | GENTUTW_(‘IT%

3. neither conclusion I nor conclusion Il follows /7 &1 fsHY | 3R 7 & s |1 WW%
4. both conclusion | and Il follows / &Y | 3R 11 ol maﬂﬁ%

Correct Answer :-

« neither conclusion I nor conclusion I follows /= 8t fAept | 3R 71 &t fea] |1 &WW%

27) Select the option that is true about the Statements and Conclusions given: / 39 ICEgREg]

g9 HifoTe &t i 2w 1w YT ok frepuf & Iy & 98 ?:

Statements: / ®Y:
Some coins are notes/ P Rres Al %
All notes are papers / 94 Fic T &

Conclusions: / fep:
I. Some coins are papers / @ﬁlﬁ DTS %
II. All notes are coins / Gt Fic e &

1. only conclusion I follows / Hdd FHY I] WW%

(10)



2. only conclusion | follows / Hdd 5HY | &WUTWT%
3. neither conclusion I nor conclusion Il follows / 7 &1 FsHY | SR 7 & fsmY 11 &@Wm%
4. both conclusion | and Il follows / fTsFT | SR 11 G &I?NTUTW?[%

Correct Answer :-

« only conclusion | follows / had fHY | GIENTUTWT%

28) Sameer Mon is associated with which sports ? / THRR 919 {59 @a 4 Gwfgd 82
1. Boxing / W
2. Sprint/a\—?fag

3. Wrestling / ?Q?ﬁ
4. Long jump/?ﬂﬁﬁﬁ

Correct Answer :-

. Sprint/a\_}‘fa_s.’

29) First Battle of Panipat was fought in____ / UFIUd &1 U4YH &, I H ST I ATl
1. 1914

2. 1757

3.1526

4. 1575

Correct Answer :-

» 1526

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - & ¥ s@en #, TS BT TP HH IUMRIG € | AT FAIo UgAIE:
25, 36, 49, 81, 121, 169, 225

1. 49

2.225

3.36

4. 169

(11)



Correct Answer :-

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 19 € T3 gaar #, T=13Ml &1 TH HH IURRIT & | Tad HAS Ug-g:
1,9, 25,49, 80

1. 49

2.9

3. 80

4.1

Correct Answer :-

- 80

32) Theriver Son isin the / @qq?ﬁgﬂﬁ %
1. Narmada Basin / THaI S

2. Yamuna Basin / HT IRE

3. Chambal Basin / d&d 9

4. Ganga Basin / T[T CIEE

Correct Answer :-
« Ganga Basin / 9T IRE

33) Complete the series choosing the missing letter/s: / &l SER/IMERT DY FABR gl C| T PIfTT:
aa__bb__aa_ abbbb__a

1.b,a,b,a

2.a,b,a,b

3.b,b,a,a

4.a,3,b,b

Correct Answer :-

e b,b,a,a



34) Rewa Kundliesin/SaTps A fRETI
1. Ujjain / I

2. Indore / _5{3:1?

3. Chanderi / Tt

4. Mandu / HIUg

Correct Answer :-

« Mandu / HIUG

35) In a certain code language world wide web is written jim jom jima and Country wide
network is written juma jima joma, then how is wide coded? / Tdh @ PIS HTHT ﬁ‘, world

wide web B\ jim jom jima a1 ST @ 8fR Country wide network &\ juma jima joma far@n
ST 8, @ wide &) 9 Hifsd fpar SR

1. jom

2. jim

3. jima

4. juma

Correct Answer :-

e jima

36) In a certain code language, ata pita fita means a great effort, matta pita data means man
is great, and futa fota fita means have a seat. Which is the word for afa in that code
language? / Th @™ PHIS HTIT ff, ata pita fita o1 aY a great effort, matta pita data &1 3ref
man is great, Gﬁ%futa fota fita &1 AYS have a seatgdl %I EL) IS UV H atad ﬁ'ﬂ! 5 Tg &1
XA fopaT 4T 82

1. man
2. great
3. seat

4, effort

Correct Answer :-



37) The founder of Brahmo Samaj waslmma?ﬂ'@ﬂwa:
1. M.G. Ranade/QI[.Gﬁ. IS

2. Swami Vivekananda / T fdderic

3.Raja Ram Mohan Roy / ST M HigH I

4. Dayanand Saraswati / GdIHg IR&d!

Correct Answer :-

« Raja Ram Mohan Roy / ST | HigH 39

38) In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different.
Choose the odd one out:

| FrafafEa uy ¥, srerl & oo 949g fRu e 81 391 9l # o te &1 Sis®s, M9 JUHT 8
Safe T ST gl

34 I fauy &1 99+ B
1. WU
2. QN
3. GE

4. MK

Correct Answer :-

39) The largest public sector undertaking of the Government of India in terms of employment is /
AR & HHA H, HRd TRPR BT a4 981 HIaSi 1P & IUHH @

1. State Bank of India / YR T T o
2. Indian Army / YRAG Yo

3. India Post / 5’%@[ URe

4. Indian Railways / YR Xad

Correct Answer :-

« Indian Railways / HRdlId ¥rd

40) The Nawab of Pataudi who was born in Bhopal was / UigTe § Uar 8¢ eIt & Tae q
' (14)



1. Muhammed Abdul Ali / HIGHIG 3fegal 3l

2. Mansur Ali Khan / AR 3l @

3. Jahangir Muhammad Khan / GlE'ITﬂT %‘ﬂ:l—c{ REIE]
4. Wajid Ali / GTfoTG 3felt

Correct Answer :-

« Mansur Ali Khan / A et @

Topic:- Mental Ability and Mental Aptitude

1)  If the following two squares shown below overlap, which one of the following options is formed? / 2Te;

o & @91 o 817 & Fa & O &9 o1 ' fdeeT a=ar &7

1.
2.
-
3.
P
4,

Correct Answer :-
(15)



2) 111
If Rs. 1,040 is shared among A, B, and Cin the ratic: : § : z, then what is the share of B? / &Af 1,040

%:%:%ﬁsmqﬁrd#s{icididl%‘,a’rewﬁm AT Bl
-

A B A B FXC b dd H

1. 320
2. 240

3. 480

4. None of the above / SRIGdH I Cﬁé:lﬁ

Correct Answer :-

3)

HREEIR

h ",
1" \\, p
O ?
\ / .
L
I 1 11 "

1.
\"lﬁ"'r
DY 3
.,

2.

(16)



3.
()
\__ /
4,

4)

HREIR

u — o O
oo | 02 g‘@g )
| O Q
] 1 m v
o O
) T
1.
o0
)
Q> O
2.
O
o
.
3.

(17)



5) 5.3 5
Whatpercentof — is — 7/ — 4
PR R
1.75%
2. 80 %
3.90 %

4. 60 %

Correct Answer :-

« 60%

Solve it. /§el &Y (% + %)_(% - %).:n
1.2/5
2.3/2
3.3/4
4.9/4

Correct Answer :-

. 3/2

7) A machine depreciates at the rate of 10 % on reducing balance. The original cost was Rs. 10000 and its
ultimate scrap value was Rs. 3750. Find the effective life of the machine. /W'Fﬁlﬂq * W %Wﬁﬁ'
TR 10 % B G A Yo U ATdT 8 | SHPT AIdad oo 10,000 TUY AT 3R SHPT SAfaw TE Ted 3750
T YT | HRA & YUTAT SHa- &1 1 B |

(18)



1. 6.5 years / 6.5 Ly
2.9.3years /9.3 G
3. 8.6 years/ 8.6 qy

4, 5.8 years /5.8 aﬁf

Correct Answer :-

e 9.3vyears/9.3 ay

8) A fruit seller buys 240 apples for Rs. 600. Some of the apples were found to be rotten and had to be
thrown away. He sells the remaining ones at Rs. 3.50 each, thereby, making a profit of Rs. 198. Calculate the
percentage of apples thrown away. /WWﬁaﬁTﬁ 600 ¥UY H 240 AT WIS | wﬁa aﬁwgan
T 3R 3% e T S AT A1 $i 3.50 TUY TAP P 3019 I 997 31 59 UPR 198 TUY BT
ATH HHTT | T Y Jdl & UFA=Id Bt TUET B

1.7%
2. 6%
3.5%

4. 8%

Correct Answer :-
¢ 5%

9) Rs. 1500 are divided among A, B and Cin such a mannerthat A:B=5:2andB:C=7:13, Whatis C’s
share? / 1500 TUT ] A, B 31X ¢ & 19 59 TR fauifora fParsarg fa:B=5:238RB:Cc=7:13
8, a1 ¢ 3l fan vuT fiei?

1. Rs. 700/ 700 ®UU
2. Rs. 280 /280 20U
3. Rs. 520/ 520 %4YU

4. Rs. 350 /350 ®UU

Correct Answer :-

» Rs.520/520%UU

10) If Train A, 210 m long and running at a speed of 81 kmph, crosses Train B, running in the opposite
direction at a speed of 72 kmph in 10 sec, find the length of the Train B. /'Clﬁ' 210 Hiex @t Gﬁ'\" g1 fpdt
Ufd g1 3 ara A T 381 ¥ A, Taudia fe=m & 72 fei ufa ger1 &t ara S o« 31 ¥ 8 B 10 AHUS
T UR $dl €, °1 34 B DI ATETS I De |

(19)



1. 245 m / 245 Hiex
2.225m /225 Hiex
3.215m /215 Hic
4. 205 m /205 HIcR

Correct Answer :-

« 215m /215 HicR

11) Find the value 0f 421 x 0.9 + 130 x 101 / 421 x 0.9 + 130 x 101 Wmﬂﬁﬁl
1. 14008.9

2. 15002.6

3.12505.5

4. 13508.9

Correct Answer :-
» 12505.5

12) 103 x 104 =?
1. 10,512

2. 10,000

3. 10,712

4. 10,812

Correct Answer :-

13) Two-fifth of one-fourth of half of a number is 25. Find 45% of that number. /Q’Eﬁ'ﬁ@'[% Y & Th
HIUTS BT 2/5, 25 B | IH H-AT BT 45% JTd DL |

1.230
2.220
3.225

4. 200

(20)



Correct Answer :-

e 225

14) For a rectangle and a square, the length of the rectangle is 5 cm more than that of the square, and the
breadth is 2 cm less than that of the square. If the area of the square and the rectangle are the same, find

the area of the rectangle./WW@Wﬁ%%’QWﬁW@,Wﬁ@S%W%
AT FiSTs 39 I 2 I $U 71 afe T 3R 3 & &5 A &, d) STad &1 &A% J1d B |

1. 10 sqcm / 10 TEAHT
2.20sgcm /20 aﬁéﬂ‘r
3. 11 sqcm / 11 GHT
4. 16 sqcm / 16 T

Correct Answer :-

« 11 sqcm/lla"ﬁj:ﬁ

15) A man crosses a 450 m long street in 5 min. What is his speed in kmph? / U &I'I_c'{l:ﬁ 450 Hiez |dl

TSP B 5 e & UR wvar 1 Iaast fooh ufer gt & foraeh =rer 82
1. 8.4 kmph / 8.4 T4 Ufc HeT
2. 5.4 kmph / 5.4 fH! Ufd geT
3. 7.2 kmph / 7.2 fwi ufa der
4. 3.6 kmph / 3.6 fooHt Ufd HieT

Correct Answer :-
« 5.4 kmph / 5.4 fopHt Tfd et

16) 15 men can dig a pit of 35 cu units in 7 days. How many men can dig a pit of 65 cu units in 5 days? / 15

ﬁ,gsﬂﬁlﬁﬁﬁﬁ@7ﬁﬁ@ﬁ%lﬁﬁﬁﬂssﬂﬁlﬁ'ﬁﬁ@sﬁﬁ@?{

1. 39
2. 49
3.19

4. 29

Correct Answer :-

(21)



17) What is the equivalent annual interest rate for a biennial interest rate of 69%? / 69% ﬁﬁaﬁ%mﬁr

R F T Juger arife e @R | 82
1.13%

2.34.5%

3.25%

4. 30%

Correct Answer :-

18) A cricketer has an average of 54 runs now. In the next match he scores 96 runs which increase his
average by 3. What is the total number of matches played by the cricketer? / U fpbe @?ﬂ_&ﬁ &1 31t
54 371 BT 3T & | AT AT A I 96 T T oI SUPT 3HId 3 I 9 9¢ 1| forde faanst
ERT WA 7Y Hot Al B AT T 32

1. 14
2. 15
3.12

4.13

Correct Answer :-

- 14

19) Two cars start from the same point and move in the same direction. The first car moves at an average
speed of 75 kmph and the second car, at an average speed of 60 kmph. What would be the distance
between the two cars, after 6 hours? /amwwﬁ W—['&ﬁ?ﬁ% eﬁ'\rwm%mﬁaa?ﬂ%l
gl FR 75 frtht vl ge1 3t oty ara 3 Ferdt @ iR gl #1R 60 Tt uid v ot siia ara
TAdl § | 6 U T, S BRI & g & g3t fovasit gRil?

1. 90 km / 90 Tt
2. 75 km / 75 Tt
3. 105 km / 105 fopHT
4. 60 km / 60 et

Correct Answer :-

(22)



« 90 km / 90 fHT

20) If the diagonals of two squares are in the ratio 1 : 3, then what is the ratio of their areas? /'Clﬁ' Ea'

1 & faPuf 1 : 3 % U | 7, A SP &TBal PT SJUTT FIT GRIT?
1.1:6
2.1:3
3.6: 1

4.1:9

Correct Answer :-

21) Ais 50 % as efficient as B. C does half of the work done by A and B. If C alone does the work in 40
days, then in how many days can A, B, and C together do it? (Approximately) / A, B T 50 gfa=rd siftre

FIA 21 A 3R B gRT {5 U i &7 enmenn w1, ¢ Ha1 81 afe srbar ¢ S & 40 & d wran g,
a9 fpaq e # A, B 8k ¢ T 1Y fiaia 38 &= Hohd 82 (TITHT)

1. 25 days /25 a1
2. 13 days/ 13 Tad
3.32 days /32 f&A

4. 30 days / 30 &

Correct Answer :-

« 13days/13feT

22) Jithin, Rahul and John are three friends with an average waist size of 32. Rahul ordered a Jeans of
waist size 30, John ordered a Jeans of waist size 34. What should be the waist size of the Jeans ordered by

Jithin? / Ffo, Tga iR W19 fiF S € T $TR 1 3 STPR 32 B 1 5E A HHR DR 30
P ST BT 3T T, §1 A PHR STPR 34 P Sil=7 o7 A2 far| o gRT emewr 91 8 si=q
P HHI BT ATHR T T A1MEY?

1.36
2.34
3.32

4. 30
Correct Answer :-

(23)



e 32

23) Fifteen years ago, A was twice as old as B. The difference between the ages of A and B today is 10
years. Find the age of the elder among them. /Wﬁ'ﬁfﬂ'&!ﬁ, A,B I 3 ﬁg’Fﬂ YT| AT A 3R B B
3TY FT 3R 10 T4 1 S0 I I8 B MY B J1d B |

1. 55
2.45
3.25

4.35

Correct Answer :-

24) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 79 743 T 9R vat § 9 R il M vd & S 9AE 1 91 TP T8 62

Isabella Mason
21 Woodlands Close,

#03-33 Primz Bizhub
Singapore 737854

(i) Isabella Mason
21 Xoodlands Close,

#03-33 Primz Bizhub
Singapore 737854

(ii) Isabella Mason
21 Woodlands Close,

#03-33 Primz Bizhub
Singapore 737854

(iii) Isabella Mason

21 Woodlands Close,
(24)



#03-33 Primz Bizhub
Singapore 737854

(iv) Isabella Mason
21 Woodlands Close,

#03-33 Primz Bizhub
Singapore 737854

4. i1
Correct Answer :-

e i

25) The average temperature in May till 6 May was 33.9° and the average temperature for
the period from 17 May till the end of the month was 34.6°. If the average temperature for
May was 34.4°, what was the average temperature from 7 May to 16 May? / 'JT&F Ao ﬂs‘w
ST ATIHI 33.9° AT 3R 17 98 & S & 3id d o1 3af & AT Sfiya aruw 34.6° ATl afe 7
BT STRTT ATIH 34.4°, AT, A 7 7S A 16 S 9P SGd aTTH T T2

1. 34.3°
2.34.5°
3.34.2°

4.34.4°

Correct Answer :-
o 34.4°

26) Age of five boys are 13, 14, 15, 16, and 17 years respectively. Find their average age? /
Ui ASP! DI 3ATY HHM: 13, 14, 15, 16 3R 17 8| D! 3T 3 T H1 |

1.14
2.16
3.15
4. None of the above/mﬁlﬁﬁ@fﬁgq—tﬁ
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Correct Answer :-

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /:ﬂ%ﬁﬁﬂg Mﬁ, H&mﬁmﬁﬁ@ﬂﬁ%ﬁ%l WWW
i.kuire2030erkui

ii.kuire2030eikui

iii.kuire2030erkui

iv.kuire2030erkui

4. iii

Correct Answer :-

28) Find the average. / 3N AT

21, 29, 37, 45,53 & 61
1. 47
2.41
3.39

4. 51

Correct Answer :-

. 41

29) A sum of three numbers is 90. The ratio between the first and the second numberis 2 : 3 and
that of the second to the third number is 3 : 5. What is the third number? /T'ﬁT-T =13l BT AT
90 B | UGt 3R GO} e & o SuTd 2:3 § 3R gt A FR} e BT 3uTd 3:5 B
TR =« g2

1.27

2. 45
(26)



3.75

4. 15

Correct Answer :-

.« 45

30) If the total of the ages of P, Q and R be 27, P is two years older than Q. Who is twice as old as

R. Then how old is Q? / Tf¢ P, 3% R B1 3T BT TNTHA 27 B, P, Q A &I a9 TST 8 ot {5 R B
3T BT 7T &, 99 Q Ft 31 fhast g2

1. 11
2.10
3.9

4.8

Correct Answer :-

« 10

Topic:- Science and Simple Arithmetic

1) Base BC of an acute angled AABC is produced to D. Draw CE || BA in such a way that CA divides
exterior LACD. If ZABC =40% and £ZBCA = 55°, then £ACE is: / T v 1[0 AABC HI T

BC, DHITATATHEAT ]| CE || BA HTSH dig AR A &1 fth CA IET ~ACD &I [Fenfog &y afy
£ABC=40"HT,BCA =35°€, dT2ACE &

1. 85°
2. 50°
3.75°

4. 60°

Correct Answer :-

« 85°

2) Evaluate: 83/8x% - 3/27x6 / 83/8x°% - ¥/27x® T AT ATT |

1, 10%°
(27)



Correct Answer :-

a2

3) Inthe adjoining figure,'O'is the cenre of the circle andif #ACB=105", thenreflex /AOB =
J Feraet A #, 'O gea o dhew § HX AR 2ACB = 105° AYFITT 2ACB =

1.210°
2. 190°
3.200°

4. 105°

Correct Answer :-

« 210°

4)  Therainfall (in mm)in a city on 7 days of a certain week was recorded as follows:

Day: Mon | Tue | Wed | Thu | Fri | Sat | Sun

Rainfallinmm: | 2.1 | 174| 202 | 251 0.0 | 43 | 1.6

On how many days was the rainfall less than the mean rainfall?
/ v ATRaT ararg & 7 foe # we ergt # aul ([#e. #) AR gerdras o
feer e | Foler | 9y | 9% | U | Al | I

(]
=
(]
]
Lh
=

Rainfallin mm: | 2.1 17.4 00| 43| 16

Trda fear aur, 3aaaar & wa o

(28)



1.2
2.5
3.4
4.1

Correct Answer :-

e 4

5) Dendrites are found in . /qf‘&m ﬁ‘TIT({\_rIﬁ%I

1. Nervous tissue / BT SHdd
2. Connective tissue / TISTd SHdPp
3. Muscular tissue /ﬂ?ﬁ Hdd

4. None of the above / mﬁﬁﬁéqﬁ

Correct Answer :-

« Nervous tissue / AFADPIT SHdb

6) Einstein’s mass energy relation is given by: / BTG BT FTHT mfwﬁfﬁﬂm%
1. E = work/time / E = B10/A9T

2.E=mc
3. E = mc?
4. E=Fxd

Correct Answer :-

7) Which of the following is not a perfect square natural number? / frafafead g CaE ki Tﬁaﬁ
TP TGS 181 &2

1.0

2.9

3.4

4.1
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Correct Answer :-

« 0

8) Which of the following is a perfect square? / Fafafead s Tﬂﬂ"f%"
1. 7028
2. 1842
3. 1156

4. 81000

Correct Answer :-
e 1156

9) Two adjacent angles of a parallelogram are in the ratio 4:5. Then the measure of the smaller angle is:

/ TH THIGR TGYST P S SRTH DIVT 4:5 F U 8 & | 776 DI HIVT BT A &
1. 100°

2. 70°

3. 80°

4. 60°

Correct Answer :-

e 80°

10) The Seasons on the earth change because: /Q@Wﬂm Eﬁ?ﬁ% FifP:

1. The distance between the earth and sun is constantly changing / q%ﬁ adr ﬁﬁ & 0L Pt Qﬁ MRR Sgerdl

Ed 5l

2. The earth’s axis s tilted with respect to the plane of the orbit / G2 B! ¢} THAIA HET B YeH H d grait

gl

3. The axis of rotation is perpendicular to the plane of the orbit / E{Uh 3{ef, JHAd | HET S dadd gial g

4. The axis of rotation of the earth is parallel to the plane of the orbit / q'&:ﬁ Pl ‘qpﬁ SHE, JHIA DT &
AR B g

Correct Answer :-

« The earth’s axis is tilted with respect to the plane of the orbit / G2l D1 YT THTT Dl o dguf o d gt

gl

(30)



11) The heat energy released in a nuclear fission and fusion process is due to the: / Y@ fogs

TUT HAa § S[THT Sl (-1 ufehar & HRUT il &:

1. Conversion of chemicals into energy / RE3 | LB i) RTG RER SRy

2. Conversion of momentum into energy / AT BT SHoll § TG

3. Conversion of mass into energy / SO4HI DI 3ol H =GR

4. Conversion of electric current into energy / ﬁgﬂﬁ &RT BT S5l § FYIdR0T

Correct Answer :-

» Conversion of mass into energy / SIHI hIl 3ol H =GR

12) Sum of three consecutive integers is 45. The largest of the three integers is: / ?ﬁqmwﬁaﬁm

TRT 45 B | 141 QUifop] & 9 9o 981 &
1. 17
2.16
3.15

4.12

Correct Answer :-

e 16

13) Plasma is considered the fourth state of matter. Which of the following description is not

connected with it? / TTSHT, Uy $1 =t srawit A =it § 1 FRruferRad faawor & 9 &9 599
e fid 81 82

1. It is also known as Bose Einstein condensates / dg IR 3‘”3@:[ Tgqh & = § Ui ST \_TTHT%I
2. Sun and stars glow because of the presence of plasma / WIIGH[ DI IURYTA & BRI {[éfa%rr GINELET %I

3. The colour shown by plasma depends on the gases which form the plasma / WIIGHT gIRT T 7T 3 3
T IR MR SR § S e 1 i SR B

4. It consists of highly ionised gases / SIH IAF | grat %l

Correct Answer :-

« It is also known as Bose Einstein condensates / I8 EIE| \3{5@7[ TJgq® & ©0 § Yl ST \_TIHT%I

14) Which of the following has branched muscle fibres? / fF=T o & fraw wmargea U=ft dg 3d 82
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1. Non-striated / 4RI-3(gd

2. Cardiac/EETﬁ

3. Striated / YRIGR

4. All of the above / SWRIad IHt

Correct Answer :-

« Cardiac/gadl

15) Which one of the following is a renewable resource? / fEdadeqar Uh Tdieoiiy Td %?
1. Coal / DITET

2. Petroleum /ﬁ@ﬁm

3. Wildlife / a=Isila

4. Natural gas / EIW e

Correct Answer :-

. Wildlife / GIoia

16) Name the two organelles that have their own genetic material. / 3+ 'rﬁ BRGNP ATH EGIELS
R 399! WU &Y SR Irht gidl 81

1. Mitochondria and plastids /msaa”rf%tnqaaw

2. Ribosome and Golgi bodies / TZENRITH TF Tieol HT1T
3. Dictyosome and endoplasmic reticulum / ST quT Sfdaedt Siferest

4.DNA and RNA / SIUFU TG 3RTAT

Correct Answer :-

e Mitochondria and plastids /nﬁ‘cﬁﬁ%mwm

17) Petroleum is commonly known as: / ﬁgﬁﬁunaﬁmma WHTF[@GHTGHHT%
1. Green gold / ¥ wauf
2. Yellow gold / e ¥guf
3. Black gold / T ¥quf
4. White gold / T9d o
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Correct Answer :-

« Black gold/ CANIESL]

18) Name the organelle that release energy from the food. / 3 PHIRMBTT BT qdigy, S HieT J
Soll gad HRaT 3

1. Nucleus / TTH®

2. Hormone / gﬂﬁ:[
3. Enzyme / Q\_Iﬂ%'q
4. Mitochondria / qﬁaﬁ%ﬂ'{

Correct Answer :-

o Mitochondria / ms‘cﬁm”ﬂ%}n

19) In which one of the following metamorphosis does not take place? / Eekkekear Th
BRI 11 BIaT 82

1. Man /HMd

2. Frog / He®

3. Starfish / ARTHA
4. Dragon fly / SATHYUT (ST TTTs)

Correct Answer :-
« Man /HFd

20) The diagonals AC and BD of a rectangle ABCD meet at 'O'. If LZAOD = 62°, then 2£OBC =
. / T% 3ad ABCD % fa@uf Ac 3k BD, '0" W fraa €1 afg 2A0D = 62° g @Y LOBC =

1.78°
2.47°
3.59°

4. 64°

Correct Answer :-
e 59°
(33)



21) During the development of a thunderstorm, air currents move / it & 9g/d & R, I
YRT Fedl &

1. upward / E?acﬂ"@ﬂ

2. horizontally / aferst
3. both upward and downward / < Eﬁ'@ ayr 3 W

4. downward / Hihjﬂ@
Correct Answer :-

« upward / t%%aﬁg@

22) simplify: (x + 3)2- (x-1)2 / (x + 3)2 - (x - 1)2 BT IRA B |
1.2x2 + 6x +8

2.6x+ 10

3.8(xx+1)
4.2x%-8

Correct Answer :-

23) A circular pit of diameter 240 m is formed near a village. The area of the affected land (in
m2) is: / TP T & e 240 e & AT $T TS JAIGR TST 941971 7971 8 | FHIfAd YA &7 Sawa
(m2 ®) g:

1. 144007
2. 140007
3. 576007
4. 570007

Correct Answer :-

« 144007

24)
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If -14x2 - 13x + 12 is divided by 2x + 3, then the remainder is: / af¢ -14x2 - 13x + 12, 2x +
3 gRT faurfora giar 8, < Jvwd 3:

1.4
2.0
3.2
4.1

Correct Answer :-

« 0

* Simplify: [{CPY2} /[CRYT FrERoHRIC

243
1. 32

16
4,81

Correct Answer :-

26) The respiratory system in man can be compared to which part of the plant? / & |
aTH-a7 B ga1 WY & fFT UFT F Y S Gpal 82

1. Stomata / Iy
2. Vein [/ RRMU
3. Root / §Ig

4, Leaf / Uil

Correct Answer :-

« Stomata / Y



27) When an inverted tumbler is placed over a burning candle, the flame extinguishes after
some time. This is due to unavailability of: / T& Sdd! §5 HIHEN & FUW od TP Ie¢ RIART B
TG 16T €, ) $© THY 916 Sardl §31 STl 81 98 SIS Srgucisudl $ HRUT gidl 3¢

1. Carbon dioxide /WEES-IVWEE
2. Nitrogen / :Ils'cjl\_fl:l
3. Oxygen / 3iieiTo

4. Water vapour / 5S¢l 9

Correct Answer :-

« Oxygen / JiqoH

28) The difference between the compound interest and simple interest on Rs. 1800 at 10% per

annum for 2 years is: / 2 T4 & fore 10% ufaad u= 1800 W%W@m 3R YR
TS BT SR &:

1. Rs. 24 /24 308
2.Rs. 16/ 16 ST

3. Rs. 30 /30 W
4. Rs. 18/18 30

Correct Answer :-

« Rs.18/18 300

29) The difference between two selling prices of a shirt at profits of 4% and 5% is Rs. 15, then

the cost price of the shirt is: / T HHIA & 4% 3R 5% %m@rwmaﬁrﬁw&w‘rm
3R 153U ¢ | 79 3 FHIT ST HT e &

1. Rs. 950 / 950 S0
2. Rs. 1500 / 1500 ST
3. Rs. 1200 / 1200 ST

4. Rs. 1300/ 1300 3T

Correct Answer :-

« Rs. 1500/ 1500 ST

30)
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Alternation of haploid gametophytic stage with diploid sporophytic stage is not observed in which

two of the below mentioned organisms? / WHWW%WN \?rl'ﬂ'l:ﬂ]?l e BrIfes
TR F URad Bt T fu e sial & | forT &t & ) 3 wian 82

Funaria , spirogyra, pteris , chlamydomonas , adiantum / thﬁﬁ‘qT, WT'&'ﬁTlTs?T, ﬁﬁﬂ, aﬁﬁ@ﬁw,

1. Pteris and spirogyra / Ufc 3R TISRATERT
2. Pteris and funaria /ﬁ'@\q &ﬁTtPflﬁTﬂ

3. Spirogyra and chlamydomonas / TSRS 3R FaAfHS A

4, Funaria and spirogyra / TIATRAT 3R TTSIRTIERT

Correct Answer :-

e Spirogyra and chlamydomonas / W@"TIET[ 3R ARSI

(37)



